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EZ(Tuple)

empty = []

numbers = [1, 2, 3]

texts = [‘hello’, ‘hamster’]
mixed = [1l, ‘hello’, 2, ‘hamster’]
embedded = [1, 2, [1, 2]]

empty = ()
numbers = (1, 2, 3)

texts = (‘hello’, ‘hamster’)
mixed = (1, ‘hello’, 2, ‘hamster’)
embedded = (1, 2, (1, 2))

(1,)

1, 2, 3



numbers = [1, 2, 3, 4,
numbers[3:5]
numbers|[3:-1]
numbers|[3:]
numbers| : 3]

numbers

print numbers[3:5]

print numbers[3:-1]

print numbers|[3:]

print numbers|:3]

6]

(1,

2, 3,

4,

6)



test = (1, (2, ‘hello’, ‘hamster’), (3, 4, 5))

print test[1][1:]

print test[-1][:2]



print [1, 2, 3] + [‘hello’, ‘hamster’]
print [1] * 10
print (1, 2, 3) * 3

(1, 2, 3)

(‘hello’, ‘hamster’) ;

(1, 2, 3, ‘hello’, ‘hamster’)

(1I 2/ 3/ 1/ 2/ 3/ 1/ 2/ 3)



numbers = [1, 2, 3] =2 [1, 5, 3]

numbers[1l] = 5
print numbers

numbers = (1, 2, 3) 2> (1, 5, 3)



ciML{2|(Dictionary)

7|-s W
{keyl:valuel, key2: valuel}

score = {‘park’: 10, ‘kim’: 20}
print score|[ ‘park’]

menu = { 1: ‘fish’, 2: ‘pasta’ }
print menu[l]

menu[3] = ‘chicken’

del menu[l]



D=
adder.py

def sum(a, b):
return a + b

test.py

import adder
print adder.sum(1l, 2)



D=
test.py

from adder import sum
print sum(l, 2)
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controller.py

def motors (left, right)
def leds(left, right)
test.py

import controller

controller.motors (30, 30)
controller.leds (2, 3)



==
10

K-



2} 77|

Br
B

Q







=2 H
— "1 1

2} 77|







=
g —

leftProximity = robot.read(Hamster.LEFT PROXIMITY)
rightProximity = robot.read(Hamster.RIGHT PROXIMITY)
diff = leftProximity - rightProximity

robot.write (Hamster.LEFT WHEEL, a + diff * b)
robot.write (Hamster . RIGHT WHEEL, a - diff * Db)
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